
 

  
ml;rufzpjf; Nfhitfs; cUthf;fYk; gpujpapLjYk; 

 
nrayl;il  19'1 

rgufKt khfhzf; fy;tpj; jpizf;fsk; 

vd;dplk; &gh 10 cs;sJ.  
vd;dplk; &gh 15 cs;sJ.  

 

vk;kpUtuplKk; ,Uf;Fk; nkhj;jg; gzj;njhifiaf; 
fhZtJ vg;gb vd ePq;fs; vOJq;fs;.  

…………………………………………………………… 

,f;FUtpf; $l;bYs;s 
FUtpfs; 6 MFk;. 

,f;FUtpf; $l;by; 2 FUtpfs; 
cz;L. 

,U $LfspYKs;s FUtpfspd; vz;zpf;ifiaf; 
fhZtJ vg;gb vd ePq;fs; vOJq;fs;.  

…………………………………………………………… 

vd;dplk; 5 Gj;jfq;fs; cz;L. 
vdJ Gj;jfq;fs; 
,Ug;gJ Gj;jfg; igapy;. 
ehd; mg;Gj;jfq;fspd; 

vz;zpf;ifia x 
vdf;nfhz;lhy; 

vk;kpUtuplKs;s nkhj;jg; Gj;jfq;fspd; vz;zpf;ifiaf; 
fhZtJ vg;gb vd ePq;fs; vOJq;fs;.  

 
…………………………………………………………… 

vk;kpUtuplKs;s nkhj;j ,dpg;Gf;fspd; vz;zpf;ifiaf; 
fhZtJ vg;gb vd ePq;fs; vOJq;fs;.  

 
…………………………………………………………… 

vdf;F ez;gd; xUtu; 3 
,dpg;Gfs;  je;jhu;. 

vd;dplk; rpy ,dpg;Gfs; 
cz;L.  



 

nrayl;il  19'2 

 x  ,w;Fg; gjpyhfj; jug;gl;Ls;s ngWkjpia ,l;L fPOs;s 

ml;ltiziag; G+uzg;gLj;Jf. 

 mwpTiu 

rgufKt khfhzf; fy;tpj; jpizf;fsk; 

ml;rufzpjf; Nfhitfs; cUthf;fYk; gpujpapLjYk; 
 

x  
,d; 

ngWkjp 

x + 2   
,d; 

ngWkjp 

7 + x  
,d; 

ngWkjp 

x - 3  
,d; 

ngWkjp 

20 - x  
,d; 

ngWkjp 

5 5+2 = 7 7+5 = 12 5-3 = 2 20 – 5 = 15 
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cjh. : 


